
§·¤æ§ü / Unit-I

1. ÒÒâæ¢çBØ·¤è °·¤ çß™ææÙ ÙãUè´ ßñ™ææçÙ·¤ çßçÏ ãñUÐÓÓ
§â ·¤ÍÙ ·¤è â×èÿææ ·¤èçÁ° ¥æñÚU âæ¢çBØ·¤è ·ð¤
ÿæð˜æ, ×ãUˆß ÌÍæ âè×æ¥æð´ ·¤æð SÂcÅU ·¤èçÁ°Ð

FD-104
M.Com. 1st Semester

Examination, Dec.-Jan., 2021-22

Paper - IV

Statistical Analysis

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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“Statistics is not a science; it is scientific
method.” Examine this statement and discuss
the scope, utility and limitations of Statistics.

¥Íßæ / OR

âæ¢çBØ·¤èØ ¥Ùéâ‹ÏæÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?
ç·¤âè âæ¢çBØ·¤èØ âßðüÿæ‡æ ãðUÌé ¥æÂ ç·¤â Âý·¤æÚU
ØæðÁÙæ ÕÙæ°¢»ð?

What do you mean by statistical inquiry ?
How would you plan a statistical
investigation ?

§·¤æ§ü / Unit-II

2. ÂýæÍç×·¤ â×¢·¤æð´ âð @Øæ ¥çÖÂýæØ ãñU? §‹ãðU â¢»ýçãUÌ
·¤ÚUÙð ·¤è çßçÖ‹Ù çßçÏØæ¡ SÂcÅU ·¤èçÁ° ¥æñÚU ©UÙ
ÂçÚUçSÍçÌØæð´ ·¤æð ÕÌæ§° çÁÙ×ð´ ©UÙ·¤æ ÂýØæð» ç·¤Øæ
ÁæÙæ ¿æçãU°Ð

What is meant by Primary Data ? Explain the
various methods of collecting them and
indicate the situations in which each of these
should be used.

¥Íßæ / OR

°·¤ ©Uîæ× ÂýàÙæßÜè ·ð¤ @Øæ ¥æßàØ·¤ »é‡æ ãñ´ U?
Âý»‡æ·¤æð´ ·¤æ ¿éÙæß ·¤ÚUÌð â×Ø ç·¤Ù ÕæÌæð´ ·¤æ
ŠØæÙ ÚU¹Ùæ ¿æçãU°Ð

( 2 )
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( 3 )

What are the essentials of a good
Questionnaire ? What points should be taken
into account while selecting the enumerators ?

§·¤æ§ü / Unit-III

3. çÙ`Ù â×¢·¤æð´ âð ·¤æÜü çÂØâüÙ çßá×Ìæ »é‡ææ¢·¤ ™ææÌ
·¤èçÁ° Ñ

¥æØ (G) v®®-w®® v®®-x®® v®®-y®® v®®-z®® v®®-{®®

ÃØç@ÌØæð´
·¤è â¢BØæ vz xx {x }x v®®

Calculate Karl Pearson’s coefficient of
skewness from the following data :

Income (G) 100-200 100-300 100-400 100-500 100-600

No. of
Persons 15 33 63 83 100

¥Íßæ / OR

°·¤ ¥æ¢çàæ·¤ M¤Â âð ÙcÅU ÂýØæð»àææÜæ ·ð¤ âãUâ`Õ‹Ï
âæ×»ýè ·ð¤ çßàÜðá‡æ ¥çÖÜð¹ ×ð´ âð ·ð¤ßÜ çÙ`Ù
ÂçÚU‡ææ× ãUè SÂcÅU ãñU ¢ Ñ

x ·¤æ ÂýâÚU‡æ= ~

ÂýÌèÂ»×Ù â×è·¤ÚU‡æ Ñ

8x – 10y + 66 = 0 ÌÍæ 40x – 18y = 214
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( 4 )

§â âê¿Ùæ ·ð¤ ¥æÏæÚU ÂÚU ™ææÌ ·¤èçÁ° Ñ

(i) x ¥æñÚU y ·ð¤ ×æŠØ-×êËØ

(ii) x ¥æñÚU y ·ð¤ Õè¿ âãUâ`Õ‹Ï »é‡ææ¢·¤ ÌÍæ

(iii) y ·¤æ Âý×æÂ çß¿ÜÙ

In a partially destroyed laboratory record of
an analysis of correlation data, the following
results are only legible :

Variance of x = 9

Regression equation :

8x – 10y + 66 = 0 and 40x – 18y = 214

Find on the basis of the given information :

(i) Mean values of x and y

(ii) Coefficient of correlation between x and
y and

(iii) The standard deviation of y.

§·¤æ§ü / Unit-IV

4. °·¤ ÂÚUèÿææ ·ð¤ ÂÚUèÿææÍèü ×ð´ âð ·ý¤×àæÑ x®', xz'
¥æñÚU yz' âæ¢çBØ·¤è ×ð´, »ç‡æÌ ×ð´ ¥æñÚU ·¤×-âð-
·¤× ç·¤âè °·¤ çßáØ ×ð´ ¥Ùéîæè‡æü ÚUãðUÐ °·¤
ÂÚUèÿææÍèü ØæÎë‘ÀUØæ ¿éÙæ »ØæÐ ÂýæçØ·¤Ìæ ™ææÌ ·¤èçÁ°
ç·¤ —
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(i) ßãU ·ð¤ßÜ »ç‡æÌ ×ð´ ¥Ùéîæè‡æü ãéU¥æ,

(ii) ßãU âæ¢çBØ·¤è ×ð´ ©Uîæè‡æü ãéU¥æ ÁÕç·¤ ØãU ™ææÌ
ãñU ç·¤ ßãU »ç‡æÌ ×ð´ ¥Ùéîæè‡æü ÍæÐ

Among the examinees in a examination 30%,
35% and 45% failed in Statistics, in
Mathematics and at least one of the subjects
respectively. An examinee is selected at
random. Find the probability that :

(i) He failed in Mathematics only;

(ii) He passed in Statistics if it is known that
he failed in Mathematics.

¥Íßæ / OR

°·¤ Õè×æ ·¤`ÂÙè Ùð v®®® S·ê¤ÅUÚU ¿æÜ·¤æð´, w®®®
·¤æÚU ¿æÜ·¤æð´ ¥æñÚU x®®® Õâ ¿æÜ·¤æð´ ·¤æ Õè×æ
ç·¤ØæÐ ÂýˆØð·¤ ×ð´ ÎéƒæüÅUÙæ ·¤æð â`ÖæßÙæ ·ý¤×àæÑ
®.®y, ®.®w, ®.®v ãñUÐ °·¤ Õè×æ·ë¤Ì ÃØç@Ì ·¤è
ÎéƒæüÅUÙæ ãUæð »§üÐ §â ÕæÌ ·¤è @Øæ ÂýæçØ·¤Ìæ ãñU ç·¤
ßãU ÃØç@Ì S·ê¤ÅUÚU ¿æÜ·¤ ãñU?

An insurance company insured 1000 scooter
drivers, 2000 car drivers and 300 bus drivers.
The probability of accident in each case is
0.04, 0.02 and 0.01 respectively. One of the
insured person met an accident. What is the
probability that he is scooter driver ?

( 5 )
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§·¤æ§ü / Unit-V

5. °·¤ Õ»è¿ð ×ð´ {y @ØæçÚUØæ¡ ãñ´U ¥æñÚU ÂýˆØð·¤ @ØæçÚU
×ð´ °·¤ çßàæðá Âý·¤æÚU ·ð¤ Èê¤Ü ·ð¤ x ÕèÁ Õæð° ÁæÌð
ãñ´UÐ Èê¤Ü ·ð¤ âÈð¤Î ãUæðÙð ·¤è â`ÖæçßÌæ  ãñUÐ çmÂÎ
Õ¢ÅUÙ ×æÙÌð ãéU° x, w, v ÌÍæ ® âÈð¤Î Èê¤Üæð´ ßæÜè
@ØæçÚUØæð´ ·¤è â¢BØæ ™ææÌ ·¤èçÁ°Ð

There are 64 beds in a garden and 3 seeds of
a particular type of flower are sown in each
bed. The probability of a flower being white
is . Assuming a binomial distribution, find
the number of beds with 3, 2, 1 and 0 white
flowers.

¥Íßæ / OR

°·¤ ·¤`ÂÙè mæÚUæ çÙç×üÌ w®®®® çßléÌ ÕËÕæð´ ·¤æ
ÂÚUèÿæ‡æ ·¤ÚUÙð ÂÚU ØãU ™ææÌ ãéU¥æ ç·¤ ÕËÕ ·¤æ
ÁèßÙ·¤æÜ Âýâæ×æ‹Ø M¤Â âð Õ¢çÅUÌ ãñU çÁâ·¤æ ×æŠØ
w®y® ƒæ‡ÅðU ÌÍæ Âý×æÂ çß¿ÜÙ {® ƒæ‡ÅðU ãñU¢Ð ©U@Ì
âê¿Ùæ ·ð¤ ¥æÏæÚU ÂÚU °ðâð ÕËÕæð´ ·¤è â¢BØæ
¥Ùé×æçÙÌ ·¤èçÁ° Áæð

(i) wvz® ƒæ‡ÅUæð´ âð ¥çÏ·¤ ÁÜð´ ¥æñÚU

(ii) Áæð v~{® ƒæ‡ÅUæð ´ âð ·¤× ÁÜð´Ð

As a result of tests on 20000 electric bulbs
manufactured by a company it was found that
the life time of the bulb was normally

( 6 )
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distributed with a mean life of 2040 hours
and standard deviation of 60 hours. On the
basis of the above information estimate the
number of the bulbs that are expected to burn
for

(i) more than 2150 hours, and

(ii) less than 1960 hours.
———

( 7 )
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